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T injection is 280°F 19 57.93 1.06
T injection is 150°F 427 l 61.13 1.02
T in situ  is 220°F 264 | 59.63 1.045
D (depth) is 2300 feet
Q is 600 gpm (20,571 ST B/D)

800 gpm (27,428 ST B/D)

1000 gpm (34,286 ST B/D)
kh is 40,000 md-ft.
Pige = Prgy - (61.13-59.63) & 00si
Peoe = 35 - 1.5 x ©0%si = 11 psi for 150°F water
Pese = 35 - (57.93-59.63) 2300051
Proe = 35 + 1.7 x B0
Pesc = 35 + 27 = 62 psi for 280°F water
apy = LHZBY 3 40
Aps600h _ 141.2 X 226?ééox 1.06 x .19 x 3.42 = 50.02 psi
Mg - 141.2 x Zgé?ééox 1.02 x 427, 3 49 - 108.16 psi
Mg00e ° 141.2 x zza?ggox 1.02 X 821\ 340 - 144,22 psi
1000 - 141.2 x 336?ggox 1.02 X 827, 3 45 _ 180.28 psi



i s _ 5759Qu

10 kh
S]O = 575943 ggg Xold = 18,3 psi/cycle
600h ’
5759 x 600 x .427 .
S = = 36.63 psi/cycle
5759 x 800 x .427 .
S = = 48.86 psi/cycle
5759 x 1000 x .427 .
S = = 61.07 psi/cycle
5. INJECTION RATE TEMPERATURE EQUATION FOR PRESSURE
(gpm) ("F)
600 280 62 + 50 + 16.3 log t.
600 150 11 + 108 + 36.64 log t.
800 150 11 + 144 + 48.86 log t.
1000 150 11 + 180 + 61.07 log t.
6. INJECTION RATE TEMPERATURE POAY T YERRL 3 YEARS 5 YEARS
(gpm) (°F) (1440m) (5.26x107) (1.58x107) (2.63x10°)
600 280 163.50 205. 24 213.06 216.65
600 150 234.72 328.60 346.17 354.23
800 150 309.40 434 .48 457.93 468.68
1000 150 383.98 540.32 569.63 583.07
Assume kh of the recharge boundary = 54,710 md-ft.
7. INJECTION RATE TEMPERATURE EQUATION FOR PRESSURE
(gpm) (F)
600 280 62 + 36.57 + 12 Tog t.
600 150 11 + 79.08 + 26.97 log t.
800 150 11 + 105.44 + 35.96 log t.
1000 150 11 + 131.81 + 44.95 log t.



8.

INJECTION RATE TEMPERATURE 1 DAY 1 YEAR 3 YEARS 5 YEARS
(gpm) (CF)
600 280 136.49  167.21  172.97  175.61
600 150 175.31  244.35  257.29  263.23
800 150 230.07 32213 339.39  347.30
1000 150 284.85  399.92  421.50  431.39



